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= 5,000
X 17,500
= 75,215
Ega| EE o7 33,237 59,990 A26,753
201 Et2dH| 5,200 5,200 0
01 At 2t2iHI 5,200 5,200 0
O8I ANEEE AdXE 2,000
O8Iz 600
Oa A M= ANl 1,000
OEZ MU 1,600
202 04 8l 10,440 10,440 0
01 U A 10,440 10,440 0
OELEIANEER F& 10,440
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A s8I
FH: ASABNES MAI|E NS (SEHLS /5 - 5&)
D SYUSAEAE Y NHEH 23
S - HM . S2(3) - HRAY - BES
207 S 1IN 17,597 17,597 0
03 A& & +1H| 17,597 17,597 0
Q1= A (A EE) 4,897
OEX, HZg, 5%, =AM (103) 4,000
OA & X2 (155) 8,700
SZUH =8 AHP 10,996 28,008 A17,012
207 S 2 OH I 10,996 10,996 0
03 Al& & 2| 10,99 10,996 0
OF&X, Hz, =%, sXMH(168) 6,320
QA2 & E=XIIR(108) 4,676
ZEF oF ¥ HIE Y 24 8,482 21,442 212,960
202 O H 2,700 2,700 0
01 =UWHABI 2,700 2,700 0
O®EA 2E L HIE AN =7 2,700
207 A SO0 & 5,782 5,782 0
03 A& & 11| 5,782 5,782 0
OFLIII ARE, BEAAL(108) 5,782
s)i=d SEE4HY 29 M (8Es9)(=20) 10,000 10,000 0
= 5,000
< 5,000
207 2N 10,000 10,000 0
= 5,000
=S 5,000
03 AI& & 51t 10,000 10,000 0
CANZEHE N, =X S 10,000
= 5,000
= 5,000
NSE=sHARD B NEEH(#E =) (=) 35,000 0 35,000
Xl 17,500
= 17,500
405 XHaHH SHI 35,000 0 35,000
Xl 17,500
e 17,500
01 Rt EEHEH 35,000 0 35,000
OUHIREE SF)| 35,000
X 17,500
= 17,500
EE SHME 2MA H2 134,544 140,651 AB,107
X 45,000
= 89,544
=2 Hils Mol d7 20,617 39,784 219,167
202 ol 5,400 5,400 0
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SA:
=R

eel:

sJ|=)

EISHE HaD|E e (sHHLTA/m - 5

)

E'%%‘ hggg el A AR CEERED
;:'?-’gd % . a8 J=u) MI”M% mgs | olee
SETET] T 5,400 5,400 0
oHl2ET %7 5,400
207 4 PoH L 15,217 15,217 0
03 Al& o 2| 15,217 15,217 0
OEX, HIZ, 5%, SX(95) 5,000
OHHE LI (9F) 3,000
ORENE ¥ 4ER 25 7,217
FOES HHE D L olF o7 12,800 26,561 A13,761
202 01t 3,360 3,360 0
01 ZLHO! b 3,360 3,360 0
oga2s o = 3,360
207 91 RN L 9,440 9,440 0
03 Al& & | 9,440 9,440 0
oAl & EXII7 9,440
HA ZES5S4 2 DER WHOIe He 3,127 29,306 26,179
207 91 o) | 3,127 3,127 0
03 Al & o7t 3,127 3,127 0
oA ¥ E=X|T 3,127
XSS 2L (AMBA AT 28t 2 45,000 45,000 0
SHA =2)(=21)
X 45,000
101 @1 24| 20,700 28,000 A7,300
X 20,700
04 JIZH2ZRNSES 20,700 28,000 A7,300
oZFQIE 17,250
Xl 17,250
OHFSHI U Al 3,450
Xl 3,450
201 LEr2 | 300 1,000 AT00
Xl 300
01 AR 22l 300 1,000 A700
OANRERE 300
Xl 300
202 04 Hl 3,000 3,000 0
Xl 3,000
NETEE 3,000 3,000 0
OANYEE ¥ 28 3,000
X 3,000
207 1 Rof | 21,000 13,000 8,000
Xl 21,000
03 Al& o] 21,000 13,000 8,000
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2A: 5|23
FH: JEdsss da)is N (sEdgsa/sY - &)
O 28 SUYE 22HA AP (&2 &)

RAH - FE - ER(30) - NRAY - E‘*«%’g_r_ - e S5 Hasg
T ] ONS, S5, WWiH S 21,000

Xl 21,000

LB SUEAZ sAETSEE FU 53,000 0 53,000

201 B2 15,000 0 15,000

01 At2Z 2|l 15,000 0 15,000
OXFEAXE 10,000
OMRES 5,000

202 OiHi 8,000 0 8,000

01 SLHOIHI 8,000 0 8,000
OMEFA 2 AREY 8,000

207 SO0 e 30,000 0 30,000

03 AIE & 2HI 30,000 0 30,000
OAlS, &2, =X+ 30,000

DAEY JEX (ML /52 - 58) 5,153,930 5,243,812 289,882
= 1,790,040
Xl 2,766,000
=5 597,890

sEXNZIE &5 3,506,640 3,653,982 A 147,342
= 636,440
X 2,751,000
= 119,200

sIIS8dH sEXE J|BXZH(=21) 2,751,000 2,646,000 105,000
Xl 2,751,000

403 XM SXHE01H 2,751,000 2,646,000 105,000
Xl 2,751,000

01 AXESHHMA2EE 2,751,000 2,646,000 105,000
OXEoletxd K& 2,751,000
Xl 2,751,000

SEMEMY BF DXz g5 I3 (22)(2Y) 7,000 7,000 0
= 3,500
< 3,500

201 et 3,500 3,500 0
= 1,750
== 1,750

01 At2Zte|H] 3,500 3,500 0
O==IEANY 29¢ 3,500
= 1,750
< 1,750

202 O1H| 3,500 3,500 0
= 1,750
= 1,750

01 SLHOIHI 3,500 3,500 0
OsEIEANY G =4 3,500
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2M: 5909
HH: DU IR (SYHYLM/5Y - 5&)
B9 SENIIY 25 (B9 A

R -EE. S9SN - NN - - 48 ol i HIRE2
-—r———'—'—'——“ ﬂ L —z di

1,750

SEIEANY EF It g8 NA(=1) 54,000 54,000 0
= 54,000

308 XXl &M SOI™ 54,000 54,000 0
= 54,000

01 AXEHHBAEEZ 54,000 54,000 0
oLEXcEE X (18L) 54,000
= 54,000

SHIH ¢FNS X]A(21) 100,000 80,000 20,000
= 100,000

308 MXIEHHMSOIA 100,000 80,000 20,000
= 100,000

01 AXSHHMBSEEZ 100,000 80,000 20,000
OsJIHEHOE JIsuEXa 100,000
= 100,000

NEE sYI|H NJA(=1) 184,640 138,000 46,640
= 184,640

403 RXISHS K20l & 184,640 138,000 46,640
= 184,640

01 HXSHHMA=2EE 184,640 138,000 46,640
O=JIH E3&H XA(138) 184,640
= 184,640

sYJ|l=dH Wetds AZX 29 X)/A(=21) 200,000 400,000 200,000
= 200,000

403 Xt XIS M S XH201™ 200,000 400,000 £A200,000
= 200,000

01 IXIHMA 28X 200,000 400,000 200,000
OUstd=s ASAIHE 2H(20L) 200,000
= 200,000

Ueds AD|s AEAHREE X|/(=2D0) 10,000 10,000 0
= 10,000

308 At XI XM SO0 ™ 10,000 10,000 0
= 10,000

01 AXSHHMBAEEZ 10,000 10,000 0
Odtll= aEAHEs KR 10,000
= 10,000

sl Mg 25t 59,000 58,982 18

201 Yer2 | 33,000 31,782 1,218

01 At &2/l 33,000 16,782 16,218
OsEXNE I2s ARS 8,000
OsEXNTAIIZAHE, 2E0MH HE 10,000
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2A: sgI=d
FH: DADEY J|sXd(sHlEsM/sd - sF)

B9l SEXCIIE 25 (B9l ®R)
 BA - -o(3D]) - NSNS - BEE
T  OSZdENY AF=03 15,000
202 01| 21,000 21,000 0
01 ZLHoit| 10,000 10,000 0
O=EXTAYER 10,000
04 2 HI3H04 b 11,000 11,000 0
R ER TP 11,000
206 X 2 4| 2,000 2,000 0
01 M=l 2,000 2,000 0
OURSENSAY AT} MIEHE 2,000
301 YurBAS 3,000 4,200 21,200
09 BARH B A S 3,000 4,200 21,200
02E SENSAY A1 =2 3,000
A=Y BHE N (2D)(EE) 81,000 200,000 A119,000
= 24,300
= 56,700
201 LBt H| 59,700 68,200 28,500
=2 17,910
< 41,790
01 AlR 2| 25,000 25,000 0
OF=HYME 2 L FADS =X 25,000
= 7,500
= 17,500
02 ZZS | 200 200 0
onsey w2 200
2 60
= 140
03 B AF2 34,500 43,000 28,500
OF=EADE 2 34,500
= 10,350
= 24,150
202 04t 8,300 9,300 21,000
= 2,490
= 5,810
RENEL 8,300 9,300 21,000
OA=HY Y2 =X 8,300
= 2,490
= 5,810
301 YerE A 13,000 13,000 0
= 3,900
= 9,100
09 BAFAH 2 A S 13,000 13,000 0
OA=HYDS 2 13,000
= 3,900
= 9,100
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2AH: 50|
Fa: DAGHE g J|gx|-l( YA/ 5D - 5E)
el sSEXNTIIE &85 (etel Q)
'-'='r/é|f»‘?§ | cw(mn) M Ma HYS ofl b
—_—Gigé’% 82435 XNa(= D_) 60,000 60,000 0
= 60,000
308 AHXI XSO0l & 60,000 60,000 0
= 60,000
01 IXESHMBAEES 60,000 60,000 0
oOFH=sEAXE 60,000
= 60,000
=2 d2Jls u=s 1,031,418 1,011,350 20,068
= 948,900
== 82,518
sII8dH s/ M2US X]A(21) 156,500 145,700 10,800
= 156,500
308 AtXIEHSOIA 156,500 145,700 10,800
= 156,500
01 AXEHMBAEES 156,500 145,700 10,800
O=sY #EBJIsU= 156,500
= 156,500
sgollisH(AIZME)2Y Xi|(=21) 233,000 240,000 AT,000
= 233,000
308 AXEHME0IE 233,000 240,000 A7,000
= 233,000
01 AXSHBAEEXS ) 233,000 240,000 A7,000
osgoltis 2 233,000
= 233,000
ARsgo(AsAHE) JIXsI|sns NA(21) 143,800 150,000 26,200
= 143,800
308 UtXIEHHSOIN 143,800 150,000 26,200
= 143,800
01 IXSHNBAEES 143,800 150,000 26,200
OY=dE Jzu=s 143,800
= 143,800
MRsgol(AsAHE) 8F 4508 N/ (=1) 264,000 225,000 39,000
= 264,000
308 MHXIHHMSOIE 264,000 225,000 39,000
= 264,000
01 HXtMBLAEEZ 264,000 225,000 39,000
CEEAMSNS 264,000
= 264,000
NeEB2Rd d2sy o 25,000 25,000 0
201 Bt 25,000 25,000 0
01 At22t2lHI 25,000 25,000 0
Osgelusg d22A HNS 25,000
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BA: s8€IIsd

Hu: DUOHES SN (SYHLS/5Y - 5&)
ool =9 H2IlE 1R CLR-ED
ojarey A HRzZ

115,036 128,000 212,964
= 57,518
== 57,518

201 B2 17,000 35,000 £18,000
= 8,500
3 8,500

03 A2 17,000 0 17,000
OXNHey USIE s =H&s SN 17,000
= 8,500
S 8,500

202 04Hl 98,036 93,000 5,036
= 49,018
S 49,018

01 0] 84,336 85,800 A1,464
OF - HJuE F JENTAHTS g5 N 84,336
= 42,168
== 42,168

04 S Mt ] 13,700 7,200 6,500
ONE=SRY SHEY iz 13,700
= 6,850
T 6,850

slsdl ISR MSsHESAXE (D) 94,082 97,650 3,568
= 94,082

308 AXIEHMSOIA 94,082 97,650 23,568
= 94,082

01 AXSHHMBEAEES 94,082 97,650 23,568
OXNE=ZERY A3 12 94,082
= 94,082

sYolctH s X2 570,872 553,480 17,392
= 204,700
T 366,172

solol stacy R8SY N/ (2D)(XE) 59,600 59,600 0
= 29,800
S 29,800

201 ¢er2gH| 10,000 17,000 27,000
= 5,000
=S 5,000

01 AtR2teldl 1,000 9,000 28,000
OsENTA SHUT 29 1,000
= 500
S 500

03 &AL2ZH| 9,000 8,000 1,000
O4HEdnE Fa 9,000
= 4,500
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24 s)lad
FH: DAMOIEY I (sBHMHLS A/ 5
el sgoldHy g5 X (2 &Q)
SA B ael(s) - ku-wm - e | an5 Hasz
— — — 7500 '
202 04 4l 4,000 4,000 0
= 2,000
= 2,000
01 =LHOBI 4,000 4,000 0
O4HLEEWE F& 4,000
2 2,000
L= 2,000
301 EIEAZ 13,600 4,600 9,000
2 6,800
= 6,800
09 EAAIHIZEA S 13,600 4,600 9,000
O4HLHENT B4t 13,000
= 6,500
L= 6,500
O=sEAkXsE 29 600
=2 300
== 300
307 212t01 & 32,000 32,000 0
2 16,000
< 16,000
02 RIZtFAAIAE R 32,000 32,000 0
Ok4-HER 2N 32,000
= 16,000
T 16,000
=0l S&5tH N2 XN (21) 14,400 14,400 0
= 14,400
308 MHXIEMSOI™ 14,400 14,400 0
= 14,400
01 AXtHBAEEZ 14,400 14,400 0
O=sENTA 28w 14,400
= 14,400
4He| |4 142,400 145,480 A3,080
201 e 10,000 12,000 A2,000
01 At 22l 10,000 10,000 0
OO0 uE & XNEX |4 10,000
202 04 i 6,000 6,000 0
01 2 LHOIHI 6,000 6,000 0
OS&ELH WA =X 6,000
206 T =4l 2,000 1,000 1,000
01 MZHl 2,000 1,000 1,000
O4-H MHus M= 2,000
307 2I2t0| ™ 9,000 30,740 221,740
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ok
B

=B

=oJjaal
DUCES IS (SYHSAL /D - 5&)
=QoICHy 235 X (Bt ®R)
ol arol _—I e HDE2
9,000 5,740 3,260
9,000
65,400 65,740 A340
65,400 65,740 A340
15,000
36,000
14,400
403 XIS HIS XHO0I R 50,000 20,000 30,000
0 RXSRNEEE 50,000 20,000 30,000
ol HE=2ol |4 X 50,000
ESw =00 TRYN S4(2D)(XE) 12,000 16,000 £4,000
=) 6,000
= 6,000
201 2Bt Y| 7,000 9,000 A2,000
| = 3,500
= 3,500
01 Al bl 7,000 9,000 22,000
OESY =20 U0y 2% (8M3l) 7,000
= 3,500
< 3,500
301 AL AR 5,000 7,000 A2,000
2 2,500
= 2,500
09 BAAHIZ &S 5,000 7,000 A2,000
OE2E =90 HPDYH BS X 5,000
= 2,500
= 2,500
E2y =00 RN S4(21) 42,000 50,000 8,000
= 42,000
308 XHXISHHISOI® 42,000 50,000 £8,000
2 42,000
0 X CHZARES 42,000 50,000 28,000
OB=E =20 APDYX |4 42,000
= 42,000
=EXNCXE S4 80,472 111,200 230,728
201 LB | 6,000 31,000 £25,000
01 AR Z 2/l 4,200 31,000 226,800
OsEXNCX OBHHOIDS 2% 4,200
03 #ALS b 1,800 0 1,800
OsEXNSK OIHIIDE 29 1,800
301 YuE AT 4,000 5,000 21,000
09 BAAH S A 4,000 5,000 A1,000
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ik
=k
ool

s
DAOHEY J|SXH(SEHLL/5Y -
=1

SICH &5 Ili

SM - E . ER(El) - kll=')\}°.=i @ée Ofl abo %}g% Hlméé’_—l
AT R L - — 7,000 “

307 212t0| ™ 7,000 10,000 23,000

02 QIZFHAAMAMNHEX 7,000 10,000 23,000
O=sE=XNCX3ARACAES AN 7,000

308 AIXIHMSOIH 63,472 64,200 AT28

01 RIXSHBAEZZ 63,472 64,200 AT28
O=sEXNCX s939 F2X X 47,272
Os=X=X 43 16,200

HE=sgol FMH H1(=1) 112,500 125,000 212,500
= 112,500

308 XX SHXSO0I & 112,500 125,000 212,500
= 112,500

01 AXSHHBAEEZ 112,500 125,000 212,500
OOl M HOAY =X 112,500
= 112,500

SYOICHH 29 &435 88,000 18,000 70,000

201 g Bt243 | 8,000 8,000 0

02 B32%Hi 8,000 8,000 0
O=oICtH3| 2 AIEEHl | 8,000

307 21201 A 10,000 10,000 0

05 DIt 3 10,000 10,000 0
O=goltty 29 435 10,000

401 AIEHIZ 20| 70,000 0 70,000

01 Al &l 70,000 0 70,000
ORI B2 2HE(SAE4) 70,000

SSY=g0d12e 4 19,500 13,800 5,700

201 28t2H | 11,500 9,800 1,700

01 AR &2IHI 11,500 9,800 1,700
O=god1s sHNEXN RS 8,500
O=olARS| W, XX 3,000

301 EtEAZ 8,000 4,000 4,000

09 & AtAIHIE &S 8,000 4,000 4,000
O=sodR3 HdA¥Hs HXI0 24 8,000

SEXNENY EE 45,000 25,000 20,000
Xl 15,000
T 30,000

=l|es® sEXNE I XM (2D)(RF) 30,000 10,000 20,000
Xl 15,000
= 15,000

405 THAHE S HI 30,000 10,000 20,000
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s20|=d
D OAGHERE DX (sHMHLSUN/5Y - 5F)
SEIEMNY EE (el d@

 RA B O9(E) - NEAY - BES Ol okl HRE2
< 15,000
01 Rt EEH S 30,000 10,000 20,000
OsgJles2lgtxd 30,000
X 15,000
S 15,000
s8lls g8 15,000 15,000 0
201 € er24| 10,000 10,000 0
01 At 22/ H 10,000 10,000 0
OsAII=EEE MRS, FHIES S 8,000
Os&EXE S2FAUS Hal 2,000
202 i Hl 5,000 5,000 0
01 S LHOHI 5,000 5,000 0
O=sglls SEAMY F=A 5,000
oty 2 YES VX (sHLrb/sd - 5F) 10,001,903 10,220,805 £218,902
= 5,781,450
X 3,120,000
Il 1,850
= 1,008,603
e oFEE JleE3 7,030,930 6.414,025 616,905
= 4,345,000
X 2,500,000
== 185,930
=g Al A (2D) 4,240,000 4,260,000 A20,000
= 4,240,000
403 XM S =0l E 4,240,000 4,260,000 A20,000
= 4,240,000
01 AXISMA2EE 4,240,000 4,260,000 A20,000
©=sgY AlJIE A (18AIR) 4,240,000
= 4,240,000
3 2 JIs 185,930 194,025 28,095
201 € er2gH| 15,000 15,000 0
01 AtR2elbl 13,000 13,000 0
Otll=Eg AHEAY FH 13,000
02 E3294H 2,000 2,000 0
OtDIsEE ANHAIY =T RESYS 2,000
202 O4dl 5,930 6,525 £A595
01 mUObI 5,930 6,525 ABY5
oZgdl #Z JeX¥ 5,930
403 MXIHHSK20/™ 165,000 172,500 A7,500
01 IXSHHMIA=2EE 165,000 172,500 A7,500
OReE NHMIH QLE2A FLEHX SLHAY 60,000




2A: sl

M FFEOFE & HES JzXN¥(sElLsa/ =Y - &)
el AESEd 2FE JleE2 CEEHED)
 RA B SS(E) - NRAY - BES olarey = Sas HTimE=]

TT]] ou=z = | EN 30,000
30,000
30,000
15,000

X gEs &2 JIgEL(2D) 2,500,000 1,960,000 540,000
Xl 2,500,000

403 XX SIS X201 & 2,500,000 1,960,000 540,000
Xl 2,500,000

01 AXEHA2ER 2,500,000 1,960,000 540,000
OXE &8s Mg J|BZTH(16AIZ) 2,500,000
Xl 2,500,000

AOIEGSXEMARS 105,000 0 105,000
= 105,000

403 RtXIEH S AH2018 105,000 0 105,000
= 105,000

01 XX EMA2EE 105,000 0 105,000
OAMESsXNEHATRS 105,000
= 105,000

ASEE ZEEH JisEs 623,923 804,500 A~180,577

N Ssiag g43 360,000 600,000 A240,000

403 XX Xl S X201 & 360,000 600,000 A240,000

01 XM A2EX 360,000 600,000 240,000
OXILESAIY 435 360,000

dEEAS |4 JIsXd 263,923 204,500 59,423

201 2 Er2 | 15,000 15,000 0

01 AtR2t2/H| 15,000 15,000 0
oddsas |4 J|l=Xd 15,000

202 044l 5,923 6,500 ASTT

01 =W A8l 5,928 6,500 ASTT
oudEsas 4 EFII=NE 5,923

403 RtXIEH S K201 243,000 183,000 60,000

01 XX A2EE 243,000 183,000 60,000
OICTEE RS+ & LYHNASSAIAE AlY 27,000
ORMELE Zx IEHEI| £0HE Mo Al 36,000
OQld POIYH M =AY 15,000
OEZlc] EBE Y L SSEU MY 30,000
OR2T ASH AMHA TS =4 45,000
O SEESI MBJIEt =4 90,000

o= #FIIE X A8E 2,347,050 3,002,280 655,230
= 1,436,450
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2N 528
FH: FFOY 2 HES JsX (gL s - &)
©el: g5 #3IIE x| A8s
R B G9(S) - A - By olare s
J| 1,850
== 288,750
sJ|s8 FEHEAHAA 29 NJ(212)(AY) 40,000 40,000 0
= 20,000
< 20,000
201 B2 4| 22,000 22,000 0
= 11,000
= 11,000
01 A 22l HI 22,000 22,000 0
OE2HE S WA= HII=XE 22,000
= 11,000
= 11,000
202 01 Hl 18,000 18,000 0
= 9,000
== 9,000
01 SLHAY] 18,000 18,000 0
OE2LHE S WA EHII=XE 18,000
= 9,000
& 9,000
s|sdH =44 29 I/ (21) 296,600 215,800 80,800
= 296,600
308 AHXIEH SO0l 206,600 215,800 A9,200
= 206,600
Ol AXEHHNBAEEXS 206,600 215,800 29,200
OsdllsdE FER4LY 29 X (16AZ) 208,600
= 206,600
403 XHXIEHHIS X201 & 90,000 0 90,000
= 90,000
01 AXSHHXE2EEE 90,000 0 90,000
O=gJlasdy S&E22ld 29 XA (1AI2) 90,000
= 90,000
o= 435 X (=) 620,000 1,488,000 868,000
X 620,000
403 RS S K0l H 620,000 1,488,000 £868,000
Xl 620,000
01 HXISHMA2E X 620,000 1,488,000 A868,000
OXZ=e S43 XN (4A2) 620,000
Xl 620,000
SHSYHES LA N (2D) 517,000 308,000 209,000
= 517,000
308 XtXI EHHI SOl & 517,000 308,000 209,000
= 517,000
Ol XXSHBABEZ 517,000 308,000 209,000
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2A: sgII£d

M YO ¥ HES JsXNd(sEHYsa/sY -
ESp)

ool s BADIE F| A8

=
=]

1]

)

[
40
o

SH-BH - S2(3) - NEAY - BAS Ol &t e HBEZ

11 CEEEEEEE N EEE) 517,000
= 517,000

sESYols 2AEZ 2Y XA(21) 32,850 32,850 0
= 32,850

308 MHXIESHME0IE 32,850 32,850 0
= 32,850

01 IXIHMBAEEZ 32,850 32,850 0
O=ZZ2Yals HEE 29 X (16AI2) 32,850
= 32,850

SHSYE s 2% XJ(=2)N(HY) 18,000 18,000 0
= 9,000
= 9,000

201 Er2Yy| 9,000 9,000 0
= 4,500
= 4,500

01 AR 22/ HI 9,000 9,000 0
Oddis LM £ A X 9,000
= 4,500
T 4,500

202 Oidi 9,000 9,000 0
= 4,500
< 4,500

01 LAY 9,000 9,000 0
OHdlE LM M X 9,000
= 4,500
== 4,500

sESdols JHe 2 XN (=1) 121,000 121,000 0
= 121,000

308 MUXISHMSOIE 121,000 121,000 0
= 121,000

01 AIXSHHBAEES 121,000 121,000 0
O=s=Sgiis 2da 2% XA (14A2) 121,000
= 121,000

ZTAZ SE&2 XNE(=1) 3,700 26,680 222,980
| 1,850
T 1,850

201 Et23H| 1,700 3,000 21,300
I 850
T 850

01 At 22l Bl 1,700 3,000 21,300
OXAZE BEEZAM ZHI 1,700
| 850
& 850

202 044l 2,000 3,000 A1,000
| 1,000
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2AM: sl=d
FH: FFoH Y HES JEN(sTHLSN/ 5 - 5&)
el ds &I XD AES (&9 Q)
| RA- I BE) - NSAY - BES N o HDSZ
e . ,, , s e
01 U oL 2,000 3,000 21,000
OXAtr SEBA AEMH 2,000
Il 1,000
& 1,000
YsEE MHEI=XA 210,900 235,950 225,050
201 B2 | 21,000 23,000 A2,000
01 AtR22t2lHl 3,000 2,000 1,000
OCEEBII=XNE M =& 3,000
02 3323l 4,000 4,000 0
OAHLE, Mt |FXE=H 4,000
03 #At2ZHI 14,000 17,000 A3,000
O8Z ZEzde 29 14,000
202 044l 6,000 5,000 1,000
01 = LHOiLI 6,000 5,000 1,000
OY=EE 2= 6,000
301 2z 3,000 2,000 1,000
00 BAIAIHIE &2 ,000 2,000 1,000
osgdee =& 3,000
308 XXX SO & 159,900 157,950 1,950
Ol IXSHtHBLAEEZ 159,900 157,950 1,950
OH BE=3 23013 XHAx 92,400
AN E MR SEUSHA 2= 67,500
403 XHXISHHS X201 & 21,000 48,000 227,000
Of XM 2E = 21,000 48,000 A27,000
OJISRHAMSE HMEAAH 0182 B3 15,000
O2ciolE SH2LY XIIEX LHAE 6,000
Ars 84 XV(22) 333,000 342,000 £9,000
=2 333,000
308 XtXIEHHISOI & 333,000 342,000 £9,000
= 333,000
01 IXHMBAEES 333,000 342,000 A9,000
OZars 4 XA (18AI2) 333,000
= 333,000
Zihs Aze ¥ B X|/A(22)(HY) 34,000 34,000 0
= 17,000
< 17,000
201 LBt HH| 26,000 26,000 0
= 13,000
T 13,000
01 At 22|l 16,000 16,000 0
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M =Y
By Ay %32
el Y5 Bl =

SA-BY-E9(E) - NRAY - BE2 | sy S0 HRSZ
~OZi: NODo @ 7EY 25 — 6.000] ’
2 8,000
= 8,000
03 A2 & H| 10,000 10,000 0
OLAE AYBE ¥ HED 2 10,000
2 5,000
< 5,000
202 01 5,000 5,000 0
2 2,500
< 2,500
NETER 5,000 5,000 0
OLAE A U AEY 2 5,000
2 2,500
< 2,500
301 YErEAD 3,000 3,000 0
2 1,500
= 1,500
00 EAA B 2 AS 3.000 3,000 0
OLA= N A 24 3,000
2 1,500
< 1,500
AAs AR U B} NR(2D) 90,000 90,000 0
2 90,000
308 NI SHHISOI® 9,000 90,000 0
e 9,000
B e 90,000 90,000 0
OLA= AYB2 U B} N (18AIR) 90,000
2 90,000
HE=IIAE s 30,000 30,000 0
403 XHEISHRIS X2 0| & 30,000 30,000 0
0 X SR EEE 30,000 30,000 0
OLAs S4ASN 23 XY 30,000
CENRIEE (SR ALY - SE) 3,530,666 4,168, 556 628,890
e 780,500
II 1,535,000
= 1,204, 166
sEgusEA 1,252,000 2,216,068 964,068
2 740,000
XI 325,000
< 187,000
=9 AJlZ AE(2D) 365,000 395,000 A30,000
= 365,000
408 TR SIS XH=0| & 365,000 395,000 30,000
2 365,000
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2N s8I

oG sEEAHZSA (Es ™))
e e e AEE -

01 RMXICHHAEEX — 365,000 395,000 230,000
O=g AldJle AY 365,000
= 365,000

s&E AEB2L0I2 SH(XHAH) 150,000 75,000 75,000

403 X+ XICHH S X201 M 150,000 0 150,000

01 XM AEE X 150,000 0 150,000
O=s=212X 2012 84 150,000

N2Y ghEd otMEZ| AMAIY(ZD) 375,000 400,000 225,000
= 375,000

403 Xt XISHH S X201 S 375,000 400,000 225,000
= 375,000

01 AXISHHAEEEX 375,000 400,000 225,000
OX=Y YEH MR AHAY 375,000
= 375,000

SEME 2435 N 32,000 16,068 15,932

201 2 Er2HEH| 7,000 7,000 0

01 AF22t2| ] 7,000 7,000 0
OME TR ALY one-stop EERAES X 7,000

202 Gibi 10,000 9,068 932

01 2WHA I 10,000 9,068 932
OB TAHLE I 2N 10,000

308 A XIEHHSOI A 15,000 0 15,000

01 MXCHHZBAEEZ 15,000 0 15,000
O=sEL0l ME&ss AN Tz 15,000

saY orXMAZ| LHAE 5,000 5,000 0

201 B4 H| 3,000 4,000 21,000

01 At 22| Hl 3,000 4,000 21,000
OXNELRAZRY, &g AU 3,000

202 ¢4 4l 1,000 0 1,000

01 2 LHOHI 1,000 0 1,000
O=ZQ OtMAIY EXZHALE 1,000

301 et A= 1,000 1,000 0

09 BAIAIHI B A2 1,000 1,000 0
O& A A, AHIEA 1,000

SEONE24 EXNE AdA-E(=ZD) 325,000 0 325,000
Xl 325,000

403 MHXISHHS A=A 325,000 0 325,000
Xl 325,000

01 XIS AEEEX 325,000 0 325,000
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2N s2led
Ha: SENANNEE(SYHLLM/59 - 5&)

S SEEAS (Ere:@R)
SA - gﬂ =5 ( n ATAY - Eas oot 0 BRE | Hipest o
325,000 ‘

X 325,000

SENIEE 458 1,668,500 1,583,500 85,000
Xl 1,210,000
=S 458,500

sIHE JIZHE OHE JI&XN)(30)(=E) 195,000 130,000 65,000
Xl 130,000
[ 65,000

201 2Bt24E] 87,000 90,000 A3,000
X 43,500
S 43,500

01 AtR2eld 17,000 20,000 23,000
O=Jt8 JI3HE 0E JIsXd 17,000
Xl 8,500
3 8,500

03 #A2EHI 70,000 70,000 0
O=JH8 JIENE OHE Jl&sXd 70,000
N 35,000
=S 35,000

202 0iHl 13,000 10,000 3,000
Xl 6,500
& 6,500

01 LA HI 13,000 10,000 3,000
O©sJt8 JIZNE O3E JIsXd =8 13,000
X 6,500
< 6,500

206 T 2 bl 15,000 15,000 0
Xl 7,500
& 7,500

01 M4l 15,000 15,000 0
OsJE JISHS OE uElz 15,000
X 7,500
S 7,500

301 LBtEAS 15,000 15,000 0
Xl 7,500
[ 7,500

09 EAtAHIZAS 15,000 15,000 0
OsItE JISHE DAE JI=Xd 15,000
X 7,500
S 7,500

308 A XISHHMSOIE 65,000 0 65,000
Xl 65,000

01 AIXESHHBAEES 65,000 0 65,000
OsJHE JISHE DAE JI=X& 65,000
X 65,000
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BA: seI|=d
FH: sENIXNHE(sHH L/ - s&)

He: SENIEE 258 (St ®K)
e x 3 T ol (= W =1 (e i = - VVOH - chle =2
S EM.SS(E) - MRAY - BaS | s B | e

s4&E SEIIE JIsX&(31) 800,000 650,000 150,000
X 800,000

403 XM S X0l & 800,000 650,000 150,000
Iy 800,000

01 AXSHR2EE 800,000 650,000 150,000
OsttE FEIIE DX 800,000
X 800,000

g0 AR HHES X 125,000 100,000 25,000
N 125,000

403 M XISHHSA=01™ 125,000 100,000 25,000
X 125,000

01 HXISHMA2EX 125,000 100,000 25,000
O=ge A2 Y JI=XE 125,000
X 125,000

SENIEE HE MY (21 50,000 90,000 240,000
X 50,000

403 Xt X &t S X0l & 50,000 90,000 240,000
X 50,000

01 IXIHHMA=2EXE 50,000 90,000 £40,000
OaH AN Hedd 10,000
X 10,000
OsJtE tteise o 40,000
X 40,000

SENSEES 843 84,500 91,000 26,500

201 £ Er2gH 27,000 27,000 0

01 At 22/ H 27,000 27,000 0
oA uE, TAl 27,000

202 OfHl 1,500 1,500 0

01 3ol 1,500 1,500 0
OsENNUE #FD 1,500

206 M=l 2,000 1,000 1,000

01 M=l 2,000 1,000 1,000
OHMEZZIY 2 ME 2,000

301 gptEas 4,000 4,000 0

09 HALAHIEAS 4,000 4,000 0
OFHX =S4, #A 4,000

403 Tt XISHHSAH=0lH 50,000 50,000 0

Ol HIXHHA=2EX 50,000 50,000 0
O=EME2Z UESR3 50,000

23 HESA Mst K| 59,000 335,000 A276,000
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fA: sdIIEd
Y sENINZE(s8HLrb/ s - 5F)

oYl SENREE ASS CEERE)
| FA-3B-gS(ED]) - HRAY -pas | pjaol

201 YutS | 50,000 21,000 29,000

01 AL Z2IHI 50,000 21,000 29,000
ON2E 292, 18- &L 50,000

202 01t 5,000 5,000 0

01 2LHOIHI 5,000 5,000 0
ONSE 24e HEI SN 5,000

206 T 2 Hl 3,000 3,000 0

01 =4l 3,000 3,000 0
oAmEH 3,000

301 LEHE AR 1,000 1,000 0

09 BAFAIHI 2 A2 1,000 1,000 0
OEAX AHIEA S 1,000

SAB EEIIZ JIeXE 250,000 20,000 230,000

403 XX BRI S XH= 01 & 250,000 20,000 230,000

01 HXISHAEEE 250,000 20,000 230,000
oOsHL AT MES 250,000

HEAS3 HSEE NR(2D) 25,000 0 25,000
X 25,000

308 XX EHHIS Ol & 25,000 0 25,000
X 25,000

01 KIXISHHZAEED 25,000 0 25,000
OHEASS HEES XY 25,000
X 25,000

S48 J12)Is EE3 XY(2D) 80,000 0 80,000
X 80,000

308 X XSRS O & 80,000 0 80,000
X 80,000

01 HXISHHBAEED 80,000 0 80,000
OsiE J1BII2 BEES XY 80,000
Xl 80,000

sEolasH Y 619, 166 368,988 250, 178
= 40,500
[ 578,666

SQoIStE LY N2 XNV (2D)(NEA) 7,000 7,000 0
=2 3,500
< 3,500

201 L ErE 2| 3,500 4,500 21,000
= 1,750
[ 1,750

01 AL 2IH 3,500 4,500 21,000
OMEXERHSE0MR2H)2S DS 3,500
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SEBIEE
SENIIXNEE (NSNS - 58)
sEosAY
24 - ZB . S(BI) - HIS . R e HBE2
= 1,750
T 1,750
301 gt aag 3,500 2,500 1,000
2 1,750
== 1,750
09 EAtAIHIZ &t 3 3,500 2,500 1,000
OMEXEIH=s=04deldH)¥d us 3,500
= 1,750
& 1,750
solsEsHH us2y XN (=31) 7,000 7,000 0
= 7,000
308 XXIEHHISOI® 7,000 7,000 0
= 7,000
01 Xt BaEEZ 7,000 7,000 0
OMEXETIHsE0AHLIH)YM N 7,000
= 7,000
STl & 08 ASBIIE JIzus(24)(2E) 20,000 20,000 0
= 10,000
= 10,000
201 29| 14,000 15,000 1,000
= 7,000
=3 7,000
01 At 22lH| 13,000 13,000 0
ORCIX JIZAE €8 HEUS 13,000
= 6,500
== 6,500
02 32l 1,000 1,000 0
ORoIX JIBAE d20Ns 29 1,000
= 500
= 500
206 M =4 5,000 4,000 1,000
= 2,500
. == 2,500
01 Mz bl 5,000 4,000 1,000
ORI JIZBAE &8 d2us AsU2 5,000
= 2,500
= 2,500
301 et atgd 1,000 1,000 0
= 500
== 500
09 #ALAIHI 2 &2 1,000 1,000 0
ORcIH JIBAF 88 JdBLUR 1,000
= 500
= 500
Fol & 08 AEINS Jlens(=1) 20,000 30,500 210,500
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SN s2IE8
3 sENIINFE(sEHL /5 - 5&)
ool sEUHSHINE
RA - BH-pR(EN) - MR - BEs | e | DRE
L - | - L - - L ‘ 7
308 XX SH SOl 20,000 30,500 210,500
= 20,000
01 IXSHBEE2xE 20,000 30,500 210,500
OLis 2ol 88 W\ 20,000
= 20,000
SENY gL 563,124 294,488 258,636
307 212+01 A 502,000 237,000 265,000
02 BI2HBMANAE T 502,000 7,000 495,000
OSt=dENdZATAE S |Y 7,000
O=84 dE=2g X& 495,000
308 MXIHSOIA 51,124 57,488 A6,364
01 UHXHHBLEES 51,124 57,488 26,364
OsENY F2X 28 48,424
Os&E0NE ZS0AHE u=s 2,700
g3 Jlzus 2§ 12,042 10,000 2,042
201 LBH2AH| 10,542 8,500 2,042
01 At 22l 10,000 7,000 3,000
OsEXNE HAXNTA W 10,000
02 ZS24H 542 500 42
Oasa NdE8 S 542
301 Lt A= 1,500 1,500 0
09 HAIMHI 2= 1,500 1,500 0
OSEXNE HAXNZA u\ 1,500
HH2AZFHI (SYIIER)(JIEHIIEH 11,656,936 10,028,649 1,628,287
= 106,050
X 35,186
o) 6,250
T 11,508,450
H 2| 11,309,065 9,687,083 1,621,982
= 106,050
Y 35,186
] 6,250
= 11,161,579
SR AAHHl X3 8,587,147 8,379,848 207,299
101 12 H 8,273,707 8,063,228 210,479
012+ 8,273,707 8,063,228 210,479
oJ123 6,502,903
os= 6,150,233
- SH 1,918,194
= 7,194,580 18128 86,335
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BRI (=LII=)(JIEH/IIE)
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SN B BA(E) - NEANY - BYS T olate
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e
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noU o ooy oo A
> =
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&
-204 0] &4~258 0] 8¢
-154 01 &~20 0] 2
-10E 0] &~15E 0] 2t
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o
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00

(UL

Jm
1
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NERT
w4 0E 0

3

o M
0

U o H
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o

-£X
=P\
OAZt2 28

CEEEI

g

1

169,058,600 *4. 1%+ 12&

5,749, 9502 108
6,566, 0002 1524 * 122
6,095, 0008 +72 « 122

3,839, 100& » 1« 128
3,424,4008 »4H «12&
3,309,300& 188+ 12&
2,418,500 »10F = 12&8
1,761,100 »2F « 128
3,358,500& *53F 128
3,037,300& 23 128

4,232,039,00084%1/12

40,0003+ 100F *12&
20,0002 =300 « 128

465,330 *30H *43|

130,000 x48 «12&
110,000& 353 « 128
80,000& 128 ~12&
60,0008 * 15 128
50,000& 15 128

50,0003 80 «12&

50,0008 »8F *12&

30,000& 12«12
20,0008 =128+ 123

60,0003 x7E *12&
50,000& »20 « 128
30,0004 38 » 12
80,000 «68E «12&

40,0003 x8E 128
30,000& 17128
10,6743 » 1242 »300A| 2t
130,000& » 139F » 12&

137,999
1,181,880
511,980
4,232,039
46,070
164,372
714,809
290,220
42,267
2,136,006
838,205
352,670
352,670
974,450
120,000
48,000
72,000
55,840
55,840
152,400
74,880
46,200
11,520
10,800
9,000
48,000
48,000
83,177
4,800
103,200
37,920
4,320
2,880
5,040
12,000
13,680
65,280
9,960
3,840
6,120
397,073
216,840
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IR -pIP
HH: #E2AAY (S2I128)(OIE/IIE)
EtR: QI 2 HH| CEEREED
RN BM-G(S) - NSAY - B Oferey R HIDE2
T OZEE0il 4,232,039,0008 1/ 12~ 120% 423,008
oItz Al 156,310
oo 6,118,617 +78%+B6% 112 45,149
os=x 11,750, 61321 x86%+ 112 111, 161
204 MR LA Y| 313,440 316,620 A3, 180
CEEEET 313,440 316,620 A3, 180
o2z 650, 00024 * 12122 7,800
o4z 400,00021%142¢« 122 67,200
o532 250, 00021 %162 « 122 48,000
062 155, 0008 +7824 » 128 145,080
o7z 140, 0008 + 1824 * 128 30,240
08-92 105, 0008 +1284 » 122 15,120
B2 TAY 390,929 298,998 91,981
101 o121t 390,929 298,998 91,981
EPE EEER 390,929 298,998 91,981
0II23 (AaD) 235,507
o=z 2,180, 8052 *9% « 128 235,527
o4 150,002
OFD4g  235,506,928% %1/ 125504423 19,608
oA TRAY
11, 4309 * 150%+023 #240A) 2+ 37,063
ogxeIRINAY 91,5144 %928 1521 12,355
OBEEII 235,506,982 %1/ 125504428 19,628
ozl 130, 000! %92 122 14,040
OREH| 80, 0002 +9% + 122 8,640
ON=E2g 3,600
S 40,000 +384 * 123 1,440
2ot
20, 0002 462 1281460, 0002 124 * 128 2,160
ogmsga 350,478, 18181 % 10% 35,048
©=LH01H| 600, 0002 *9% 5,400
U0 AIEARAY 949,673 494,371 455,302
101 Q1218 949,673 494,371 455,302
REPE R EE 949,673 494,371 455,30
S EEEREED 603,256
osz 2,004,637 R *24% « 128 603,256
o4g 332,017
PSS 1,101,649%* 122 28] 26,440
ONZtERaY
10, 54421 150%+ 180A] 2H+242 68,326
OSIASTEINLL 84,3572 +24% 152 30,369
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SA: )&
Y HE2HAH (L= )(IIEHIIE
Eel: ol 2| SR
S - B S9(3H) - NTAY - BES Ol
“OBEEOMI 2,004,637 8 ~045 +50%23] 50,072
(@F=g]] 130,000 24H « 128 37,440
OusHl 80,000 x24H 128 23,040
OonsExe 11,040
-t < Xt 40,0003 =18 * 128 8,640
S e 20,0002 x10¥ + 128 2,400
OUB=RL2(4AEEZ) 850,899,972 %10% 85,090
O=3Uotl 600,000% x24H 14,400
BHHSY AEADAY 921,282 430, 193 491,089
101 I 24H| 921,282 430,193 491,089
03 RIAHAZZNE S 921,282 430,193 491,089
OJ122 (AIARY) 567,159
oss 2,054,921 x23H x 128 567, 159
o= 340,323
OFI=t =y
(2,267,042 8 x50%+2, 094, 637 & 5 » 15% 21,279
)+23l
OAzt2 224
10,7953 *150%+23% *240 Al 2+ 89,383
OLL Py =3 - L=
(94,815 102479, 880& *13& ) * 15 29,799
OZEFIHI
(2,267,042 109 )+( 1,878,975 x13Y) 47,008
Oz4altl 130,000& x23H «12& 35,880
[@ImE={:] 80,0002 x23H + 123 22,080
Oossg 11,280
-bi S Xt 40,0003 11 +128 5,280
-F220IF
(20,000& * 112460, 000 *32+100, 0002 *1 6,000
H)x128
OHBSEHS(4HEEZ) 835,238,0008*10% 83,524
O30l 600, 000 23 13,800
XN&2D1& AlEA 40,333 38,472 1,861
101 QI 24H| 40,333 38,472 1,861
03 RIHAIZRES 40,333 38,472 1,861
(OPIE=1 24,660
osa 2,054,213 19128 24,660
OE= 15,073
OF-F = 2,054,9213 x25%*23] 1,028
OA2t2 2R+ 10,8372 *150%*240A| 2t 3,902
OLLPNEI=1-] Eui=4 86,6963 *x1H 15 1,301
OCYE &I 2,054,921 & *50%* 1 x23| 2,055
O=4ltl 130,000& 1+ 123 1,560
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SN 52|29
M HESIAHI(SHII==-)(JIEH/IIE)
CHel: olzi 2| SR
 BA - G(3) - NRAY - BES | e Hn=2 ]
[TT] omEH  80.00=~ZseH| %0
oixsse 720
- i Xt 40,0003 1 *12& 480
- BUOIE 20,0003 *1Hx 128 240
oga=sga 35,463, 1662 *10% 3,547
©=3U0tl 600, 000& 600
S&E2 HolEs oE datX 47,042 45,201 1,841
101 2l 24b| 47,042 45,201 1,841
03 RIoAHAZ2EXNE 47,042 45,201 1,841
023 (d32xH) 29,231
o=3 2,435,895@ *1H 128 29,231
(OE=s 17,211
(OF= It = 2,435,805& *40%* 1E 23] 1,949
OAl2tel ¢ 12,6602 150%*240A| 2t+1H 4,558
Oeitzaxzt=g 101,678R x 12 %15 1,526
OZEFIHI 2,435,8953 *50%* 14 23] 2,436
O34l 130,000+ 12128 1,560
Ou&EHl 80,0003 1 *12& 960
ogaxga 42,212,048 x10% 4,222
©=U0idl 600, 000& 600
ANEEst=sdlles 2803 X AAHH(21) 69,897 0 69,897
= 12,000
& 57,897
101 el 24b| 69,897 0 69,897
= 12,000
< 57,897
03 RIAHA2 2N ES 69,897 0 69,897
QJl2= 45,096
os3 1,878,975 x2H x 128 45,096
= 7,742
= 37,354
o= 23,601
OF=F=t = 45,095,400& *1/12%50%+23] 3,758
= 645
& 3,113
OA2RaY  9,995% x150%+2% *48A| 2t 1,440
= 248
< 1,192
OgXRERIE 80,0003 x2H 15 2,400
= 412
53 1,988
OEEF I 45,095,400 *1/12x50%*23] 3,758
= 645
& 3,113
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EA: =9)aw
M HHSIAH (SYIISH)(IIEH/IIE)
Ctel: dE29H| CEERED
SA - ZE - 29I(32) - NRAY - BaS maw . S0 S HnE2
T O= A 130, 000 x0 3 » 102 3,120
= 536
= 2,584
onest| 80,000 +2% * 128 1,920
= 330
= 1,590
oN=E4 960
“BH Xt 40,0002 %124 +122 480
= 82
< 398
—opIE 20,0002 ¥2 * 122 480
= 82
= 398
oHNELD S 62,449, 41021 10% 6,245
= 1,072
= 5,173
CENI T 1,200,000% 1,200
= 206
< 994
SA2 ASTA 24 QI2H(2D) 70,688 70,688
= 39,000
= 31,688
101 @1214] 70,688 70,688
= 39,000
= 31,688
NP EEET 70,688 70,688
oJl=a 45,06
o=z 1,878, 97521 %23 +122) 45,096
= 24,880
= 20,216
0+g 24,392
Ozasry 45,005, 40021 +1/12+50%+23] 3,758
= 2,074
= 1,684
OANZADRAT 9,005 *150%+22 «48A| 2+ 1,440
= 795
= 645
ositgIEINLY 79,9612 %23+ 152 2,399
= 1,304
= 1,075
OYEEIE 45,005,408 +1/12+50%+28] 3,758
= 2,073
= 1,685
o3| 130, 000R %22 128 3,120
2 1,721
= 1,399
Ons| 80, 000! %224+ 122 1,920
= 1,059
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A sHIIsd
HH: HE2IZHI(=LII=)(JIEHIIE)
Sl 2| (Bt &)
BN B S(SH) - NEAY - BES ol Sie HIRS2
ONnExrg 1,680
-Hi = Xt 40,0003 x2& x12& 960
= 530
= 430
-22IE 20,000 «3H =128 720
= 397
== 323
CHEREZ S 63, 169,4102 *10% 6,317
= 3,485
= 2,832
O©=3Uut 1,200,000& 1,200
= 662
=S 538
ANAFRIASAES oIAHH(Z1) 35,186 35,186
X 35,186
101 @1 24H| 35,186 35, 186
X 35,186
03 RIHAZZHES 35,186 35,186
oJl=2a 23,107
o3 1,925,519« 1H +12& 23,107
X 23,107
(OE=y 11,479
OFI=E = 23,106,228 *1/12x50%+*23| 1,926
Xl 1,926
OAIIIZ2+E 10,2182 »150%+ 12 *48A| 2+ 736
Xl 736
OgxtraR/I=E 81,7423 14 »152 1,227
Xl 1,227
OZEEFIHI 23,106,2283 *1/12x50%+*23| 1,926
X 1,926
@I=2=1: 130,000 x 1 122 1,560
Xl 1,560
Ou &l 80,0003 «1H 128 960
X 960
OHERHEZ & 31,439, 0022 10% 3,144
Xl 3,144
O=UHHI 600,000& 600
Xl 600
ADER AYE MFYXAME XY QA2H|(2D) 38,700 38,700
= 19,350
& 19,350
101 el 244l 38,700 38,700
= 19,350
== 19,350
03 RIAHAZ2Z X ES 38,700 38,700
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2N sYIIE
3 #MYSAAH (5YIIS”)(JIEHIIE)
SHel: el e |

SA - BB SR (S0) - MRAR - BAS | olar ] .
CRER — 22,548
o=a 1,878,975& x 18128 22,548
= 11,274
& 11,274
Oo=¢ 11,603
OF=Ft =1 1,878, 975& *50%+23] 1,879
= 940
T 939
OANZtelZReY

9,995% *150%+ 1 *7 A| 2t x 122 1,260
= 630
== 630
Ogx7raRIt=E 79,960 1H 12 960
= 480
& 480
OYE ROty 1,878,975& *50%+*23| 1,879
= 939
= 940
Oz Al 130,000& x1H « 128 1,560
= 780
== 780
(@mE=1:]| 80,0008 x 1« 128 960
= 480
T 480
ogda=sdga S 31,045,240& = 10% 3,105
= 1,553
T 1,552
©=U0oitl 4,549,000& 4,549
= 2,274
== 2,275

A= 43X AL (22) 119,000 0 119,000
= 35,700
== 83,300

101 el 24 H] 119,000 0 119,000
= 35,700
< 83,300

03 I AHA2 2 RE S 119,000 0 119,000
@123 69,319
oss 1,925,519& *3H x 128 69,319
= 20,795
T 48,524
o= 35,908
OH2AY  23,106,2288 *1/12+50%+32 x23] 5,777
= 1,733
o= 4,044
OANZt2 2+ 10,218 *150%+3% x40A| 2t 1,840
= 552
= 1,288
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24 sgJag
Hu: WHSYAY (SYIISH)(JIE/IIE)
cel: ola2 |
- BA-ZH-G2(3) - NEANY - BES Ofl & o
| OoRRSEIlag  81,7400-32+15¢ 3609
= 1,103
5 2,576
OB = &I
23,106, 2281 #1/12+50%+32 x23| 5,777
2 1,733
= 4,044
o244 130, 0002 32« 128 4,680
= 1,404
= 3,076
Onet| 80,0001 *324 122 2,880
2 864
= 2.016
OJ=ag 90
EES 40,0001 %12 * 128 480
e 144
= 336
gl 20,0008 %224 * 122 480
= 144
= 336
owmsgD = 34,381, 8758 *10%32 10,315
2 3,004
= 7,221
©=U401 bl 13,773,008 13,773
e 4,134
< 9,639
IAZ BEHA ZRR QIAHH(2D) 39, 188 39, 188
I 6,250
5 32,938
101 Q12 bl 39, 188 39,188
J| 6,250
< 32,938
e RS 39,188 39,188
e 22,548
o=z 1,878,975/ 124x 128 22 548
J| 6,250
= 16,298
osg 12,208
omasg 20,547, 7001 %1/ 12+50%+23] 1,879
OANZIADDAL 9, 0052 *150%+ 12 x100A] 2t 1,500
oMS2EINAL 79,9611+ 12 * 152 1,200
O/EEIM 22,547,700 1/ 12+500%+23] 1,879
O2AH| 130, 0008 * 124 » 122 1,560
OnEY| 80,0002+ 12 128 90
owmsgI = 32,277, 1602 10% 3,208
=TT 4,434,000 4,434
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 sIlER

M HEPHAH (=5€II=8)(IIEHIIE)

1 J1E2Z&hl

 2H B OR(E0) - NTAY - BYS __L w0 BES

Jl2&Hl 347,871 341,566 6,305

A2 J=2H (ERD) 164,547 154,320 10,227

201 29| 26,367 23,120 3,247

01 AHR22lHl 24,567 21,320 3,247
ORAM2E AtREelH] 24,567

02 3324l 1,800 1,800 0
ORANE2Y 29| 1,800

202 o4 Hl 12,000 10,800 1,200

01 = LHOIHI 12,000 10,800 1,200
OFAEE IUOH| 12,000

203 R F=AH| 53,130 47,800 5,330

01 JI22EYFFAH| 24,200 22,000 2,200
oRE 11,000,000& 11,000
o= 6,600,000& »2H 13,200

02 F3IHAH R =AH| 4,630 3,600 1,030
OF IS 40,0003 *100E+30, 000& 21 4,630

04 EA2HYRFEHI 24,300 22,200 2,100
©10¢! 0I5t 175,000 =100 = 12& 2,100
©15¢! Oist 250,000& 204 k=128 6,000
©202! olst 300,000& =121 k+ 12 3,600
©25¢1 0I5t 350,000& 301 Wt~ 128 12,600

204 2R FH| 72,600 72,600 0

01 USRS HH| 72,600 72,600 0
o%% 650,000 «1& *12& 7,800
o= 600,000& x2E 128 14,400
ontE 350,000 « 12 »12& 50,400

405 XH&HE S| 450 0 450

01 MR EEHSHI 450 0 450
OZMAMEI 7Y 450

2EA2Y J2H (2SR 24,326 25,275 L0949

201 ¢ Er2 3| 15,926 16,275 A349

01 AtR2-21Hl 15,926 16,275 £L349
ORAM2E AR &2l 15,926

202 0fHl 8,400 9,000 2600

01 3G -8,400 9,000 2600
ORA2E IUoI 8,400

2EA2Y J23H(JFo D) 24,326 25,666 21,340

201 2 Er29H| 15,926 13,766 2,160
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SN sYIlsd
Hu: Y2

Bl (=s221£&)(J1EHIIE)

2 J123H
SA-EIE.ER(E) - ASANY - Bas | oew | B8S _r
M o isaes - — wws| B
ORN2E MR22lH] 15,926
202 04 Bl 8,400 8,400 0
01 S UL 8,400 8,400 0
OFA2E U 8,400
FA2E J23H (8= ARD) 21,078 20,538 540
201 fer2g| 13,878 13,338 540
01 At 22lH| 13,878 13,338 540
ORAM2E ARZ2lH| 13,878
202 Ol 7,200 7,200 0
01 =0l 7,200 | 7,200 0
fAES =UOHI 7,200
FA2E JI23HI(XNI181) 21,078 25,685 24,607
201 2| 13,878 12,885 993
01 At22|H| 13,878 12,885 993
ORAN2E MR 13,878
202 (4 Hl 7,200 7,800 2600
01 S0l 7,200 7,800 A600
OFA2E =U0iYI 7,200
2EA2E JI23HIOIEESH) 19,454 18,959 495
201 ZEt2 gl 12,854 12,359 495
01 At &2lt| 12,854 12,359 495
OR A2 AR2cH| 12,854
202 Ol - 6,600 6,600 0
01 =LHOiHI 6,600 6,600 0
OFKEZ =0l 6,600
A2 JIS23H(4EX D) 14,582 12,643 1,939
201 £et2gH 9,782 8,443 1,339
01 At 22l H| 9,782 8,443 1,339
EN2E MRZEI] 9,782
202 04 Hl 4,800 4,200 600
01 =LHOBI 4,800 4,200 600
FA2E UL 4,800
gxd 29 58,480 58,480 0
201 ¢t 58,480 58,480 0
01 At 2 2|H| 58,480 58,480 0
0Y - &% 4g 58,080
ogHM B 7Y L A 400
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